
����������	
����

	����
 ���
��
��


�������� ���	�
� ��
��� ��� ����������� �
 	��

���� ���������� �! "�#� ������

"
$�% ���

� &
��$�'�
���� �����
�(�"
��)

*	� "
��&
�����"�� +
$
��
�


#$���	
��
�
 *�(�� � *$�
&
�� ,---�

��� .//012

�� �3�4��3�
.//0



���� �����	
��
��� ���� �����


����� ��� 	 
����
�	����
 ��������	�����

��	 ���	
�������		 ���������

������������ ����� � ����
��� �   

�������� ��	
��� 
����� ��� ���� ����	
�� ������ ��������
��� ��

!������	


�
��	�	� !��"	�� 	 #��$	
��	�� %�	��� !����& � �!	���'( $� ��)
�"	������* �	�����!������ '�"����+� $�!�� #"	��
���� � $�
��	�
���
Vo/VT = 31.8, nb/no = 3 · 10−3 � �����	
��� �	����"������	"-��� $"���	 �
�����)�������� ��"��� %λi/rd = 66.7, Ni = L/λi = 3, ño/no = (0.005− 0.20),
L/rd = 200, M/m = 102(�

��������� !�� $
� ��" ' ño/no ≤ 0.01 
������	 $�!����� �	�����!���)
��� $
������ � 
�
��
�����* ��"� ��.� �	�����!���� �������	"-�� ��)
��"�&������ �	�����!������� /��
���- 
������� ����"�&������ �	�����)
!������ 
���	� $
� ��	"�!	��� ño/no� �
� ño/no ≥ 0.05 ��)�� ��	"�!	���
���
���� ����	
��� ����"�&������ �	�����!�����- 
������	��� �0	 �� ��)
!�"-��� ������ $�!����� �	�����!������� 1� ��	' �"�!��' 
������	 ����)
"�&������ �	�����!������ $
������ � ����'���* #"	��
�!	���+� $�"� �
$�+"�2	��* 	+� #�	
+�� #"	��
����� $"��� � ���"	 ��
��� !���� #�	
+��

�
��
�	��� ��"�� ��. � ��$"������ �	�-3	 $�
�+���� �"� ����"�&���)
��� �	�����!�������

���� ��������� !"� #�$� %"&���
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456 789:;<7=7:> ?@ ; A?=B 6=6A:C?8 <6;D %Vo/VT = 31.8, nb/no = 3 · 10−3(
78 ?86)B7D6897?8;= A?==797?8=699 E=;9D; F7:5 7?8)9?G8B F;H6 %λi/rd = 66.7,
Ni = L/λi = 3, ño/no = (0.005−0.20), L/rd = 200, M/m = 102( F;9 9:GB76B
78 8GD6C7A;= 6IE6C7D68:9 %JKL)D6:?B(�

K@ :56 ;DE=7:GB6 ?@ :56 7?8)9?G8B F;H6 79 9D;== ) ño/no ≤ 0.01� :56
6H?=G:7?8 ?@ :56 <6;D)E=;9D; 789:;<7=7:> =6;B9 :? :56 @?CD;:7?8 ?@ MNO
F;H6� F57A5 79 G89:;<=6 BG6 :? D?BG=;:7?8;= 789:;<7=7:>� 456 C;:6 ?@ :56
6H?=G:7?8 ?@ :56 789;<7=7:> 78AC6;969 F7:5 78AC6;978P ño/no� K@ ño/no ≥ 0.05�
:56 D?BG=;:7?8;= 789:;<7=7:> <6A?D69 69968:7;= ;: :56 787:7;= 9:;P6 ?@ :56 <6;D)
E=;9D; 789:;<7=7:> BG6 :? :56 78AC6;978P C?=6 ?@ :56 A?8H6C97?8 ?@ :56 F;H6 ?8
:56 B6897:> E6C:GC<;:7?8�

456 6H?=G:7?8 ?@ :56 D?BG=;:7?8;= 789:;<7=7:> =6;B9 :? :56 B;DE78P ?@ :56
6=6A:C7A @76=B� BG6 :? :56 ;<9?CE:7?8 ?@ :56 @76=B 686CP> <> :56 E=;9D; 6=6A:C?89�
Q568 ; E;C: ?@ :56 686CP> 79 ;<9?C<6B :56 MNO)F;H6 F7:5 :56 ;DE=7:GB6 =?F6C
:5;8 :56 :5C695?=B ?@ :56 D?BG=;:7?8;= 789:;<7=7:> 79 @?CD6B�
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� ��������� ������ ������ !��"��� � #$�����%��� &%���' !����(
) �!��$�*+ �� ���"�'�)���, ��-����!�)���� *�"�'��.� &%���*��%���!��
�$�.�+ �-!$� #"�$�����) ��"/0�� �$������ Vo >> VT ) �'��%����� ����
���"$��)���"/��� �"�1%�2 ) $������ )�1�-3'��� ������1)-$�)�� )�"��4
������ �)"����� ���'�"3����% ����� 56�782 � ���% % ���'�"3����% ���
��� 5984

� ������* 56�98 ��$�1���2 !�� �-!$�)�� ��-����!�)���/ ���)�'�� $
��1)���, ����)��� )�"� : .��%���$� � %�$��%�"/� % ��$��%����%4
;���%��� �-!$� � �����% ) ���� ��$2 !��� '"��� )�"� #��� .���
%���$� � "� ��)�� '"��� �����% � !��� ����""����� ��-����!�)���/
5<2=8 �� �.��"� ��"� 562984 � ��������� ������ ����%����)�,��� �"-!�� �
��%� 3� ����%����%� �-!$� � �����% 2 !�� � ) �"-!�� 7�> ) ������ 598?
L/rd = 200? Vo/VT = 31.8@ no

b/no = 3 · 10−34 ;���%��� ������1)-$�)��
)�"� ? λi/rd = 66.7@Ni = L/λi = 3@ño/no ∼ 0.005 − 0.204

� ������ 598 ��$�1���2 !�� ��1)���� �-!$�)�� ��-����!�)���� � 1��
*)�� #"�$�����) �-!$� )�1�-3'�,����� )�"��� ���)�'�� $ A��%����
)���, )�"� BC������4 �%�"��-'� #��� )�"� ������ ��� -)�"�!����
�"������� �-!$�4 ;�� %�"�� �"������� �-!$� � ����)����)���� %�"��
�%�"��-'� )�"�� BC� -����!�)� � �%��� $)�1����(������ � *���$���4
;�� -)�"�!���� no

b/no � �%�"��-' )�"�� BC� �����)���� ��-����!�)��
��������"/�� %�'-"�(������ ��-����!�)����4 � ������ 598 ���'�� ���
��. ��1)���� %�'-"�(������ ��-����!�)���� �� �%�"��-'� )�"� BC�?
E/(mrd/eT 2

oe) ≥ 252 E2/8πnoT ≥ 0.2 &no
b/no ≥ 3 · 10−3 '"� �-!$� �

Vo/VT = 31.8+4
� ��������� ������ ���"�'-,��� �"-!�� � �%�"��-'�� )�"� BC�

) 0� ����.�)��4 ���'���2 !�� 1�'���� )�1%-����� �"������� &������
1)-$�)�� )�"� + %�"�� �%�"��-' ño/no ≤ 0.01 ���)�'�� $ -)�"�!���,
�$������ ��1)���� %�'-"�(������ ��-����!�)���� )�"� BC�2 ���!�%
�$�����/ ��1)���� ������ ��� -)�"�!���� ño/no4 ;�� ��"/0�* �%�"��-�
'�* ño/no ≥ 0.05 ����)�-, ��"/ �.���� $��)����� �� )�1%-����� �"���
����� 5D2E82 $������ ���)�'�� $ ��1)���, %�'-"�(������ ��-����!�)����
� 1��-*���, -3� �� ��!�"/��� ���'�� A��%���)���� )�"� BC�4

��1)���� %�'-"�(������ ��-����!�)���� ���)�'�� $ 1��-*���, ) ���
1-"/���� ��1)���� ��"/��� ���*����!��$�� ��-����!�)���� ')�3���� #"�$�
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�����) �"�1% 592F26G84 �'��$� ��"��.� 1��-*���� )�"� �� �����*�'��
: ���"� ������ !���� #���.�� 1��-*���� ���$�������� �"� 1�%�'"����� �
A��%��-���� $)�1����(�������� �"� �"���1��-*�,��� )�"�� BC� � �%�
�"��-'��2 %��/0�� ����.� )�1�-3'���� %�'-"�(������ ��-����!�)����4

���"��� � #$�����%��� ) ��"������ %���'�% !����( ) �!��$�*4 ����
�%����)����� �'��%����� �����%� '"���� L/rd = 200 � �����'�!��$�%�
.����!� %� -�"�)��%�4 �"� #"�$�����) � ����) �"�1% 1�'�H��� %�$��
)�""�)�$�� ������'�"���� � Te/Ti = 302M/m = 1022 ����1����� �� �$����
��� V ∼ ±2.8 VT �1�1� �.����!������� !��"� �!��� * !����( &Ne ∼ 105

�� '"��� 100rd +4
I�'�H��� *�"�'� � &%���*��%���!��$��+ �-!�$ �� �$�����/,

Vo/VT = 31, 8 � �"������/, no
b/no = 3 · 10−34 �"� #AA�$��)��.� -)��

"�!���� !��"� !����( �-!$� ��� ��*������� ����0���� no
b/no ���%����

���� %���' J)1)�0�)����J4 J�1)�0�)����J#$)�)�"����� ��%-2 !�� �'��
#"�$���� '������� �� α !����( � %����� m/α � 1���'�% e/α2 �� � ��% 3�
����0����% e/m $�$ - #"�$�����2 ��$ !�� ')�3���� #��* !����( &��1�)�%
�* K�#"�$�����%�+ �� ��"�!����� �� ')�3���� #"�$�����)4

I�'����� ������1)-$�)�� )�"�� � '"���� )�"� λi/rd = 66.7 � ��%��
��% .��%���$� Ni = L/λi = 34 ;��) � %�$��%-% �"������� ��*�'����
�� x = 04�%�"��-' )�"� ) ��1� * �"-!��* ���)�'�� ) ���"�(�4

��������� 	�
����
� 
������������� ������

λi/rd = 66, 7� Ni = 3�

/"�!�� �)R STU T)V T)R T)� T)T T)W

ño/no ) ����W ���V ���W ��V� ��R�

�� )��* �"-!��* ) ��!�"/� � %�%��� )��%��� 1�'����� 1����)�!���
"��.%,��)�$�� )�"�� %�"�� �%�"��-' Eo/

mrd

eT 2
oe

= 1 � '"���� )�"� 

L/rd = 2002 ��%���% .��%���$� N = L/λ = 1 � A�1�)�� �$�����/,
V�/VT = 32.044

I�'����� 6GG ����� * !����( &e = m = 02 e/m �� 3�2 !�� � - #"�$����
��+4 ;���"�3�)����� 6E ����$����� ����� * !����( �� A�1�)�� �"���
$����4 I�'�,��� ������'�"���� ����� * !����( �� A�1�)�� �"��$����?
>G !����( � V o

N = 31.8VT = Vo2 ��)��%���� ������'�"��� � ) �����)�"�
x/rd ∼ 40 − 120@ �� 9G !����( �� �$������%� V o

N/VT = 2.84 &)��*��� .���
��(� �"�1% + � V o

N/VT = −2.84 &��3��� .����(� �"�1% +2 ��)��%����
������'�"��� � �� xo

N ) �����)�"� x/rd ∼ 0 − 2004
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;�'�������� �������)$� � �������� !��"����.� #$�����%���� ���)��
'�� ) ������ 5684

��%���%2 !�� ) ��$��� � �� ���-�$�* �����3������/ ��"� E � �%�"��
�-'� .��%���$ EN ���%��-���� �� mrd/eT 2

oe4

����%����% �"-!�� 4 − 1 ÷ 4 − 54 � #��* �"-!��* 1�'�� �-!�$ �� �$��
����/, Vo/VT = 31.8 � �"������/, no

b/no = 3 · 10−3 � ������1)-$�)��
)�"�� � ��%���% .��%����$� Ni = 3 � �%�"��-'�� ño/no = 0, 005 &�"-!��
9�6+2 G2G6 &�"-!�� 9�>+2 G2G< &�"-!�� 9�7+2 G26G &�"-!�� 9�9+2 G2>G &�"-!��
9�<+4

���) �2 ���� )�,��� �"-!�� 9�62 ���)�'�� �� ���46�E2 �"-!�� 9�> :
�� ���4F�6=2 �"-!�� 9�7 : �� ���46D�>92 �"-!�� 9�9 : �� ���4><�7>2 �"-!��
9�< : �� ���477�9G4

�"� $�3'�.� �"-!�� ��$�1��� 1�)���%���/ �� )��%��� #���.�� #"�$�
���!��$�.� ��"� WE 2 #���.�� #"�$�����) �"�1% ∆We = We − W o

e &W
o
e

: ���"�)�� #���.�� #"�$�����) �"�1% + � �����/ #���.�� #"�$�����)
�-!$� ∆Wb = −(Wb − W o

b )@ 1�)���%���/ �� )��%��� �%�"��-' EN

����)��� )�"� Ne = 1 � .��%���$@ 1�)���%���/ �� )��%��� �%�"��-�
' .��%���$ �"������� ����) ñN @ 1�)���%���/ �� )��%��� #���.�� ����)
∆Wi = Wi−W o

i @ A�1�) � �"��$���� #"�$�����)@ A-�$(�� ������'�"����
#"�$�����) �"�1% fe(V ) � �-!$� &K�#"�$�����)+ fb(V ) �� �$������2 ����
%���)��� � �� �)�� %�$��%-% fmax �"� %�$��%-% ��!�"/��� A-�$(��
������'�"���� fomax@ ) "������% � "�.���A%�!��$�% %��0����@ �������
'�"���� ��"� E(x)2 )�1%-����� �"������� �"�1% ñ(x) � )�1%-�����
�"������� #"�$�����) �-!$� &K�#"�$�����)+ ñb(x)4

;� $��) % W (t) &���462F26D2><277+ � EN (t) &���4>26G26E2>=279+ )�'��2
!�� ��!�"/��� ���'�� �-!$�)�� ��-����!�)���� ) �"-!��* 4 − 1 ÷ 4 − 5
�%��� ��$�� 3� *���$���2 !�� � ) �"-!��*2 ����%������ * ) ������ 5984
�����)���"/��2 �� $��) % EN (t) )�'��2 !�� � ��%�.� ��!�"� ) '�"����
�� .��%���$� Ne = 12 �%�,��� %�$��%�"/� � ��$��%���4 �%�"��-'�
)�"� Ne = 1 ���*�'�� !���1 %�$��%-% E = EI

max ) t = tImax2 � '�"��
��(�""��-�� � �����'�% T/Toe ∼ 5− 62 ����)����)-,��% �����'- ������
�� 1�*)�!��� * !����( TB4 ���"�1 #��* $��) * � A�1�) * �"��$�����
#"�$�����) ��$�1 )���2 !�� ��"������� ���'�� �-!$�)�� ��-����!�)����
����'�"����� 1�*)���% #"�$�����) �-!$�4

� ���"�(� 6 ���)�'�� 1��!���� tImax2 EI
max2 V I

�max &V� = 2
√

eφ
m +2 TB2

(EI
max)2/8πnoT 2 � ��$ 3� %�$��%�"/� � 1��!���� ∆Wb2 WE 2 ∆We ) �)��

tmax ∼ tImax '"� �"-!��) 4 − 1 ÷ 4 − 52 � ��$3� '"� �"-!�� 7�> �1 ����� 

<



598 � ��%� 3� ����%����%� �-!$�2 �� ��1 ������1)-$�)�� )�"� 4
�1 ���"�( 6 )�'��2 !�� tImax2 E

I
max2 ∆Wmax ) �"-!��* 9�62 9�> ���$�

��!��$� �� ��"�!�,��� �� �"-!�� 7�>5982 � ) �"-!��* 4 − 3 ÷ 4 − 5 ��"��
!�,��� ��1��!���"/��4 L�� ��$�1 )���2 !�� )� )��* �"-!��* ��!�"/���
���'�� �-!$�)�� ��-����!�)���� ���$��!��$� �'���$�)�4

���"�1 ��!�"/� * -!���$�) $��) * EN (t) &���4>2726G26626E26F2>=2
>D27927<+ ��$�1 )���2 !�� ����)� % ��"�!��% ����%����)��% * �"-!��)
�� �"-!�� 7�> 598 �� ��!�"/��� ���'�� �)"����� )�1�-3'���� .��%���$
$��)����� � ��%���%� N = Ne ± βNi2 β = 1, 2, 3...4 ;�� %�" * �%�"��-�
'�* )�1%-����� �"������� ño/no ≤ 0.01 ) �"-!��* 9�62 9�> )�1�-3'�,���
��"/$� ����)� � .��%���$� � β = 1 N = 4 � −2 &1��$�% M�N �-'�% ����
1��!��/ ������ � )�"� + � �%�"��-'� �* %�"�4 ;�� -)�"�!���� ño/no )
�"-!��* 4− 3÷ 4− 5 $��%� .��%���$ � β = 1 )�1�-3'�,��� .��%���$� �
β = 2 � 3 N = 7 � −5@ 6G � −84 ������ � �%�"��-'� .��%���$4 ����� � "�
��$�1���2 !�� .��%���$� $��)����� �)"�,��� "��.%,��)�$�%� )�"��%�
5D2E84 O�1�) � �$������ .��%���$ N = 2 − 10 ���)�'�� ) ���"�(� 7
����� 56684

����
�� �� ��	�
���� ����� 
 ���
�

 ∆Wb, WE, ∆We

� 	�
��� ����
���� �

��� EI(t) 
�
 W (t)�

Vo/VT = 31, 8@ no
b/no = 3 · 10−3@ W o

b /W o
e = 3.11

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

tI
max/Toe 9.3 9.3 9.3 9.4 9.5 10.3

EI
max 33.07 33.06 33.01 32.64 31.40 27.89

V I
�max/VT 10.33 10.33 10.32 10.26 10.06 9.48

TB/Toe 6.16 6.16 6.17 6.20 6.33 6.71

(EI
max)2/8πnoT 0.349 0.349 0.348 0.340 0.315 0.248

∆Wb/W o
e 0.770 0.770 0.770 0.785 0.833 1.016

WE/W o
e 0.362 0.362 0.363 0.372 0.398 0.497

∆We/W o
e 0.403 0.403 0.403 0.411 0.441 0.543

∆Wb/W o
b 0.248 0.248 0.248 0.252 0.268 0.327

WE/W o
b 0.116 0.116 0.117 0.119 0.128 0.160

∆We/W o
b 0.129 0.129 0.129 0.132 0.142 0.175

W o
b �W

o
e ) ��!�"-��� #�	
+�� #"	��
���� $�!�� � $"��� , E

I
max ) �������"-���

��$"����� ��"� Ne = 1 � t = tI
max, E ��
��
����� ��

mrd

eT 2
oe

� V� = 2
�

eφ
m
, TB =

2π/k
�

eφ/m = 2λ/V�, ∆Wb = −(Wb −W o
b ) ) $��	
� #�	
+�� #"	��
���� $�!��,

WE ) #�	
+�� #"	��
�!	���+� $�"�, ∆We = We − W o
e ) #�	
+�� #"	��
����

$"��� �

=



����%����% �"-!�� 4 − 1 ÷ 4 − 24 � #��* �"-!��* �%�"��-'� ������
1)-$�)�� )�"� Ni = 3 ño/no = 0, 005 &�"-!�� 9�6+ � ño/no = 0, 01 &�"-!��
9�>+4

��"/���0�� ��1)���� �-!$�)�� ��-����!�)���� ) �"-!��* 9�6 � 9�>
���)�'�� $ A��%���)���, )�"� BC� ��'���� �"-!�, 7�>5984 �����)��
��"/��2 �� A�1�) % �"��$����% )�'�� ����1�)���� *���$������ ���-$�-�
� 2 ��*����,����� ) ��!���� '"���"/��.� )��%��� &���4=�269�+4 O-�$�
(�� ������'�"���� #"�$�����) �-!$� �� �$������ fb(V ) � ������'�"����
�"������� ñb(x) �%�,� )�' ��$�) � ��1��!���"/�� %���,��� )� )��%���4
��*�������� � ���'��� �%�"��-'� )�"� No = 1 &���4>26G+4

;���%��� �A��%���)�)0���� )�"� BC� ) �"-!��* 7�> 5982 9�6 �
9�> ���)�'�� ) ���"�(� >4 ;��)�'��� A�1�)�� �$�����/ )�"� BC�
V I
� : �(��$� �� ��"�3���, ��$� A-�$(�� ������'�"���� fb(V )
&V I

� ∼ V min
p + (V max

p − V min
p )/2 598+@ EI

mx : �%�"��-'� )�"� Ne = 1
) %�$��%-%� �.���,��� $��)�� EI(t)@ EI

�� : ���'��� �%�"��-'� �� EI(t)
� ����)����)-,��� �% V I

���2 V I
� �� � �"������� #���.��4

����
��  � !�
����
� ����� "#$ Ne = 1

	�
�� ������� �����%�
����� ��������
����


/"�!�� 3 − 2 4 − 1 4 − 2

ño/no ) 0.005 0.01

t/Toe 200 − 350 200 − 320 150 − 250

V�/VT 29.8 − 28, 6 30, 1 − 28, 2 30.1 − 29.6

V I
�/VT R��R 29.1 29.8

EI
mx 25 25 26

V I
�mx/VT ��� 9.0 9.2

(EI
mx)2/8πnoT 0.20 0.20 0.22

EI
�� 21 21 21

V I
� ��/VT 8.2 8.2 8.2

(EI
��)

2/8πnoT 0.14 0.14 0.14

V� ) �������� 
���&�� 
��$
	�	"	��� <)#"	��
���� %�������"-��	 � ����)

��"-��	 ���!	��	 V� � ���	
��"	 �
	�	�� :(, V I
� ∼ V min

� + (V max
� − V min

� )/2)


������ ���
���- ��"� Ne = 1, EI
mx�E

I
�� ) �������"-��� � �
	���� ��$"���� 

��"� Ne = 1 � ���	
��"	 �
	�	�� t $� �
���� EI(t), E ��
��
����� ��
mrd

eT 2
oe

,

V� = 2
�

eφ
m

= 2
�

eEλ
m2π

�

�1 ���"�( > )�'��2 !�� ����%��� )�"� BC� ) �"-!��* 9�62 9�>
�"�1$� $ �"-!�, 7�> 5984

D



���)����� $��) * ñN (t) &���4926>+ ) �"-!��* 9�62 9�> � ) �"-!�� 7�
> &���466 ) ������ 598+ ��$�1 )���2 !�� ) �"-!��* 9�62 9�> ���$��!��$�
� ��%�.� ��!�"�2 � ) �"-!�� 7�> ) t/Toe > 100 ����-� �%�"��-' ) '��
"��� * .��%���$ ñN (t)4 ;� $��) % E(x)2 ñ(x) &���4E26= � ���46= 598+
)�'��2 !�� ����- �%�"��-' .��%���$ ñN ����)����)-�� ���� ) '�"���
��� )��'�� �"������� � $��(�����(�� ) ��� #"�$���!��$�.� ��"�4 L��
��$�1 )���2 !�� ��1)�)����� %�'-"�(������ ��-����!�)���/4 ��1)����
%�'-"�(������ ��-����!�)���� ���)�'�� $ $�""���- : � ����%- ����-
)��'�� �"�������2 $��(�����(�� ) ��� #"�$���!��$�.� ��"� � � �����
%- ����- �%�"��-' 0���$�.� ���$��� .��%���$ ñN � EN &���4>2726G266
� ���4F26G 598+4 ��1)���� $�""���� ���)�'�� $ 1��-*���, &���462F � ���4E
598+4

;� A�1�) % �"��$����% #"�$�����) &���4=�269� � ���467 598+ )�'��2
!�� ) t/Toe > 350 ) �"-!�� 7�>5982 ) t/Toe > 300 ) �"-!�� 9�6 � ) t/Toe > 220
) �"-!�� 9�> ���)"�,��� J*)��� J-�$����� * #"�$�����)4 L�� ��$�1 )��
��2 !�� ��!������� 1�*)�� #"�$�����) �"�1% .��%���$�%� %�'-"�(����
��� ��-����!�)���� � ��1)���� ��"/��� ���*����!��$�� ��-����!�)����
')�3���� #"�$�����)4 ;��)"���� M*)����)N ) ��"���� V < 0 ��$�1 )���2
!�� %�'-"�(������ ��-����!�)���/ �����)�3'����� $��)������ ����)���
)�"� � .��%���$ �� ����-��% )�1%-����� �"�������2 $������ ���)��
'�� $ )�1�-3'���, ��"�� $����$�)�"��) * .��%���$ � ������ * )�"�4
L�� ���(��� � ���)�'�� $ 1��-*���, #"�$���!��$�.� ��"� &��'������
�%4 592F8+4

;� $��) % E(x)2ñ(x) &���4E26= � ���46= 598+ ) �"-!��* 9�62 9�> � 7�> 598
)�'��2 !�� %�$��%�"/��� �%�"��-'� Emax � %�$��%�"/��� $��(�����(��
��"� ) ��1� * �"-!��* '����.����� ) ��1��� )��%� tmax4 ;��"� ��!�"�
1��-*���� ��"� )��'�� �"������� ��� ��$������ )��%� ���'�"3�,�
����� � '����.�,� %�$��%�"/��� ."-��� ñmin ) tmin4 I��!���� tmax2
Emax � tmin2 ñmin ) �"-!��* 7�> 5982 9�62 9�>2 � ��$3� ) �"-!��* 4−3÷4−5
���)�'�� ) ���"�(� 74

�1 ���"�( 7 )�'��2 !�� tmax � ����)����)-,��� tmin ) �"-!��* 9�62 9�
> %��/0�2 !�% ) �"-!�� 7�> 598 � -%��/0����� ��� -)�"�!���� ño/no4 L��
��$�1 )���2 !�� ��!�"/��� )�1%-����� �"������� &������1)-$�)�� )�"�
��+ �.���� ��"/ 1����)$� %�'-"�(������ ��-����!�)���� � ���)�'�� $
��"�� � ����%- �� ��1)���,4 �����)���"/��2 �� $��) % ñN (t) &���4926>+
)�'��2 !�� ���� .��%���$� Ni = 3 ��!������� ���$��!��$� � ��%�.� ���
!�"� ) ��"�!�� �� �"-!�� 7�> &���466 598+4

�1 ���"�( 7 )�'��2 !�� Emax � ����)����)-,��� �"������/ #���.��
) tmax2 � ��$3� ñmin ) tmin ) �"-!��* 9�62 9�> � 7�> 598 ��1"�!�,��� ��1���
!���"/��4 L�� ��$�1 )���2 !�� ����� *���$��� ��1)���� %�'-"�(������

E



��-����!�)���� � $�""���� �'���$�) ) �"-!��* 7�> 598 � 9�62 9�>4 ����
��)���"/��2 ��1)���, $�""���� )� )��* �"-!��* ����)����)-�� � ��� �
���� �%�"��-' �'���$�) * .��%���$ �"������� Ni = 2 − 3 − 4 − 5 − ...
&���4926>+2 !�� #$)�)�"����� ����- �'��� )��'�� �"�������2 � � ��� �
���� 0���$�.� ���$��� .��%���$ ��"� Ne = 2 − 3 − 4 − 5 − 62 &���47266+4

����
�� &� '���
��� E(x) 
 �
�
��� n(x)

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

tmax/Toe 378.3 327.6 255.4 44.4 19.7 11.7

Emax 63.40 62.79 67.39 55.06 58.41 78.29

ñ/no 0.33 0.36 0.35 0.16 0.18 0.23

n/no 0.67 0.64 0.65 0.84 0.82 0.77

(Emax)2/8πnoT 1.28 1.26 1.45 0.97 1.09 1.96

(Emax)2/8πnT 1.92 1.96 2.23 1.15 1.33 2.53

tmin/Toe 392 340 267 62 42 30

ñmin/no 0.53 0.49 0.53 0.25 0.33 0.46

nmin/no 0.47 0.51 0.47 0.75 0.67 0.54

ñmin/ño 98.0 53.0 5.0 3.3 2.3

tmax� Emax ) ���	�� �
	�	��� ��+�� E(x) ��		� �������"-��	 ���!	��	 Emax,

E ) ��
��
����� �� mrd
eT2

oe
, n/no = 1− ñ/no� tmin� nmin� ñmin ) ���	�� �
	�	���

��+�� n(x) ��		� ������"-��	 ���!	��	 nmin� � +"����� �$���� $"�������

ñmin �������"-���

� ���"�(� 9 ���)�'�� %�$��%�"/� � �%�"��-' .��%���$ EN
max �

%�%��� )��%��� tNmax2 $�.'� '����.����� %�$��%�"/��� �%�"��-'� '"�
�"-!��) 7�> 5982 9�62 9�>2 � ��$3� '"� �"-!��) 4 − 3 ÷ 4 − 54

�1 ���"�( 9 )�'��2 !�� )�� tNmax ) �"-!��* 7�>5982 9�6 � 9�> �"�1�
$� $ tmax � ��$ 3� -%��/0�,��� ��� -)�"�!���� ño/no4 P�$��%�"/� �
�%�"��-' .��%���$ ) �"-!��* 7�>5982 9�6 � 9�> ��1"�!�,��� ��1��!��
��"/��2 !�� ��'�)��3'��� ) )�' �� �'���$�)�% *���$���� ���(����) )
#��* �"-!��*4


�$�% ����1�%2 1�'���� ��!�"/��.� )�1%-����� �"������� &������
1)-$�)�� )�"� + ���)�'�� $ -)�"�!���, �$������ ��1)���� %�'-"�(��
����� ��-����!�)���� )�"� BC�2 �� �� )"���� �-����)���� �� ��% ����
(���4

� #��% ) )�'�% ��."��-���� � ��1)���� )�1%-����� �$������ ����)4
;� A�1�) % �"��$����% ����) &���4=�269�+ )�'��2 !�� ) t2 �"�1$�� $

F



����
�� (� ��	�
���� ��
���
� � ����
���� �

��� EN(t)

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

tmax/Toe 378.3 327.6 255.4 44.4 19.7 11.7

tII
max/Toe 382.8 327.6 257.7 54.4 29.3 11.7

EII
max 10.2 9.9 9.9 14.5 17.7 22.8

tIII
max/Toe 380.5 328.7 257.6 110.9 54.8 39.8

EIII
max 8.5 7.5 9.1 2.4 2.3 3.5

tIV
max/Toe 379.9 328.2 257.0 19.5; 55.6 11.7 11.4

EIV
max 8.9 7.5 8.6 8.2; 7.9 13.2 17.5

tV
max/Toe 381.1 328.7 259.4 44.5 20.3 13.4

EV
max 5.8 6.0 6.6 11.3 12.2 12.5

tV I
max/Toe 380.7 331.0 254.3 199.8 54.1 37.6

EV I
max 4.6 4.7 6.5 1.7 2.6 3.4

tV II
max/Toe 382.3 329.4 257.7 45.0 18.1 17.7

EV II
max 3.6 3.7 4.0 6.3 8.9 8.4

tV III
max /Toe 385.8 330.5 261.2 52.2 28.5 19.4

EV III
max 3.2 3.3 3.2 3.7 4.7 6.8

tX
max/Toe 385.3 331.1 267.2 70.9 43.4 17.8

EX
max 2.2 2.3 3.4 2.7 3.1 4.7

tN
max ) ���	�� ��������� �
���� EN(t), EN

max ) �������"-��� ��$"����� X)�

+�
������, E ) ��
��
����� �� mrd
eT2

oe
�

tmax2 ���)"����� *���$������ '"� %�'-"�(������ ��-����!�)���� )�1%-�
����� �$������ ����)4 � #�� 3� )��%� ��!����� � ���� ����� #���.��
����) ∆Wi &���4<267+4 ;��"� 1��-*���� ��"� ) t > tmin )��'�� �"�����
��� �*"�� )�,��� � ��1)�)����� ������ �-��-"�������/ � 0���$�% ���$�
���% ������1)-$�) * )�"�4 ;� A�1�) % �"��$����% ����) )�'��2 !�� ���
#��% �����*�'�� 1�*)�� � -�$������ ����) #��%� )�"��%� � ��1)�)�����
���*����!��$�� ��-����!�)���/ ')�3���� ����)4 � ���"�(� < '"� #��*
�"-!��) 7�> 5982 9�62 9�>2 � ��$3� '"� �"-!��) 4 − 3 ÷ 4 − 5 ���)�'�� 
%�$��%�"/� � 1��!���� #���.�� ����) ∆Wimax2 $���� � '����.�,��� )
t = timax4

�1 ���)����� A�1�) * �"��$����� ����) &���4=�269�+ � $��) *∆Wi(t)
&���4<267+ ) �"-!��* 9�629�> � 7�> 598 &���46D � 6> ) ������ 598+ � �1 ���"��
( < )�'��2 !�� A�1�) � �"��$���� ����) � ∆Wi(t) ) #��* �"-!��* �%�,�
�'���$�) � *���$��� � ��1"�!�,��� ��"/$� )��%���% ��!�"� ���(����2
� ∆Wimax ��1"�!�,��� ��1��!���"/��4

6G



����
�� )� *��
�
% 
���� � ����
���� �

���

∆Wi(t)� W o
i /W o

e = 3.342 · 10−2

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

∆W o
i /W o

e · 10−3 1.28 5.10 20.38

ti min/Toe 392 340 267 62 42 30,30

ti max/Toe 410 358 285 93 63 65∗,110
∆Wimax/W o

e · 10−2 1.12 0.98 1.22 0.62 1.48 4.00, 4.07

∆Wimax/W o
b · 10−3 3.59 3.14 3.93 1.98 4.75 12.86, 13.07

∆Wimax/W o
i 0.33 0.29 0.37 0.18 0.35 1.21, 1.22

∆Wimax/∆W o
i 4.8 2.9 2.0, 2.0

Y ) $	
� � �������� �
���� ∆Wi(t)� W o
i � W o

e � W o
b ) ��!�"-��� #�	
+�� �����

$"��� � $�!��, ∆Wi = −(Wi−W o
i ), ∆Wimax ) �������"-��	 ���!	��	 ∆Wi(t)

� t = timax, tmin ) ��� ���"�&� ��

����%����% �"-!�� 4 − 3 ÷ 4 − 54 � #��* �"-!��* �%�"��-'� ������
1)-$�)�� )�"� Ni = 3 ño/no = 0, 05 &�"-!�� 9�7+2 ño/no = 0, 10 &�"-!��
9�9+ � 0, 20 &�"-!�� 9�<+4

��$ -3� ��%�!�"��/2 ��!�"/��� ���'�� �-!$�)�� ��-����!�)���� )
#��* �"-!��* ��1��!���"/�� ��"�!����� �� �"-!��) 9�62 9�> &���"�(� 6+4
�'��$�2 -)�"�!���� ��!�"/��.� )�1%-����� �"������� ño/no ���)�'��
$ 1�%����%- �1%�����, *���$���� ���(����4 �-����)���-, ��"/ ) �"-�
!��* 4 − 3 ÷ 4 − 5 ��!����� �.���/ $��)����� )�1�-3'�,����� )�"� 
�� )�1%-����� �"�������2 $������ ��1)�)����� ����""�"/�� � �-!$�)��
��-����!�)���/,4 � ������ 56>8 ��$�1���2 !�� ��� ����""�"/��% ��1)��
��� �-!$�)�� ��-����!�)���� � $��)����� ��� -)�"�!���� ño/no ����
��� �$�����/ ��1)���� $��)����� � %�$��%�"/��� �%�"��-'� .��%���$
$��)�����2 � ��$3� ����0���� EN

max/EI
max4 ���%� ��.�2 ��!���,� )�1�

�-3'��/�� ��"�� $����$�)�"��) � .��%���$� N = Ne ± βNi2 β ≥ 24 �
��1-"/���� 1��-*���� %�3�� ����)"��/�� �� ��"�� ������ ���'��4 ���,'�
����"/0�� -%��/0���� EI

max ��� -)�"�!���� ño/no ) �"-!��* 4−3÷4−5
&���"�(� 6+4

;� $��) % EN (t) ) �"-!��* 4 − 3 ÷ 4 − 5 &���46E2>=279+ )�'��2 !��
�%�"��-'� .��%���$ $��)����� ) ���)�% %�$��%-%� EN (t) ������ ���
-)�"�!���� ño/no � ) �"-!�� 9�< �����)���� ���)��%�� � EI

max4

66



��1�-3'���� .��%���$ $��)����� #$)�)�"����� %�'-"�(�� ��"�E(x)2
� %�'-"�(�� ��"� �"-3�� 1����)$�� %�'-"�(������ ��-����!�)����4
�����)���"/��2 �� ������'�"���, E(x)2 ñ(x) ) �"-!��* 4 − 3 ÷ 4 − 5
&���4>927>29G+ %�3�� )�'��/ ���� )��'�� �"������� � $��(�����(�, )
��* #"�$���!��$�.� ��"�4

Q���$��� %�'-"�(������ ��-����!�)���� ) �"-!��* 4 − 3 ÷ 4 − 5
�-����)���� ��"�!����� �� �"-!��) 9�62 9�>4 �����)���"/��2 ) �"-!��*
4 − 3 ÷ 4 − 5 ��!�� � ��%�.� ��!�"� ����-� )�� ��� )��'�� �"�������
������1)-$�)�� )�"� &���4>927>29G+4 ����)����)���� ����-� �%�"��-' 
) '�"��� * .��%���$ ñN Ni = 3, 6, 9 &���4>G2>E27=+4

O�1�) � �"��$���� ����) &���4>>�27G�27E�+ � $��) � ∆Wi(t)
&���4>62>F27D � ���"�(� <+ ) �"-!��* 4 − 3 ÷ 4 − 5 ��$3� �-����)����
��"�!�,��� �� �"-!��) 9�62 9�>2 ���$�"/$- )�1%-����� �$������ ����)
��-�"�)"��� %�'-"�(������ ��-����!�)���/, ) ���* )��'���* �"�����
���4

;� $��) % EN (t) &���46F2>D27<+ )�'��2 !�� %�'-"�(�� ��"� ��-�"�)�
"��� .��%���$�%� $��)����� Ne = 4, 7, 10 � Ne = −(2, 5, 8)4 �1 ���"�( 9
)�'��2 !�� #�� .��%���$� ) '�"�� ) ���$��� &EN

max .��%���$ Ne = 3, 6
1��!���"/�� %��/0�+2 ���!�% EN

max ������ ��� -)�"�!���� ño/no4
��%���% !�� %�'-"�(������ ��-����!�)���/2 ��-�"�)"����� ��!�"/�

��� $��)������2 ���",'����� � ) �"-!��* 9�62 9�>4 �����)���"/��2 �� $���
) % ñN (t) &���4926> + )�'��2 !�� �� ��!�"/��� ���'�� ������ �%�"��-'�
.��%���$� Ni = 32 �� ���/ ����-� )�� ��� )��'�� �"�������4 �'���
$�2 �1�1� %�" * �%�"��-' .��%���$ $��)����� &���4>26G+ #��� ���(���
��1)�)����� %�'"���� � � ��!����% )��%��� ��'�)"����� %�'-"�(������
��-����!�)���/, )�"� BC�4

;� A�1�) % �"��$����% #"�$�����) ) �"-!��* 4−3÷4−5 &���4>>�27G�2
7E�+ )�'��2 !�� 1�*)�� #"�$�����) �"�1% .��%���$�%� ��!������� 1���
!���"/�� ���/0�2 !�% ) �"-!��* 9�62 9�>4 ����)����)���� ���/0� ��!��
������ � 1��-*���� &���46D2><277+4 �1 ���"�( 7 )�'��2 !�� )��%� '�����
3���� %�$��%�"/��� �"������� #���.�� tmax � %�$��%�"/��� ."-��� 
)��'�� �"������� tmin 1��!���"/�� %��/0�2 !�% ) �"-!��* 9�62 9�>4 ;��
#��% tmax2 tmin -%��/0�,��� ��� -)�"�!���� ño/no �1�1� ��"�� �����.�
��!�"� 1��-*����4

�1 ���"�( 7 )�'��2 !�� Emax � ����)����)-,��� �"������� #���.��
) �"-!��* 4−3÷4−5 ��"�!�,��� �� �"-!��) 9�62 9�> � ����-� ��� -)�"��
!���� ño/no4 L�� �)�1��� � -)�"�!����% �$������ ��1)���� %�'-"�(����
��� ��-����!�)���� ��� -)�"�!���� ��!�"/��.� )�1%-����� �"�������
� -)�"�!���� �%�"��-' .��%���$ $��)�����2 �.��,��* ��"/ 1����)$�
%�'-"�(������ ��-����!�)����4

6>



;�� -)�"�!���� ño/no ) ��1-"/���� -)�"�!���� �"������� #���.�� )
t = tmax ������ � ñmin &���"�(� 7+4 �)�"�!���� ñmin ���)�'�� $ )�1�-3�
'���, )�� ��"�� $����$�)�"��) * .��%���$ $��)����� � $ -)�"�!���,
�$������ 1��-*���� ��� -)�"�!���� ño/no &���46D2><277+4

��%���%2 !�� �1�1� ��"�� �����.� ��!�"� 1��-*���� ) �"-!��* 4− 3÷
4 − 5 ��1)���� %�'-"�(������ ��-����!�)���� �� ���)�'�� $ $�""���-4
� ��1-"/���� ) �"-!��* 9�72 9�9 Emax2 ñmin %��/0�2 !�% ) �"-!�� 9�62 9�>
� ��"/$� ) �"-!�� 9�< ���)��%� � ��%�4

P�'-"�(������ ��-����!�)���/ � 1��-*���� ��"� ) �"-!��* 4−3÷4−5
��1)�)�,��� �� ���'��2 $�.'� ��!�"/��� )�"�� BC�2 ��'����� �"-!��% 9�
62 9�>2 ��� �� -���"� �A��%���)��/��4 �'��$�2 A��%���)���� )�"� BC�
���'�"3����� �'��)��%���� � ��1)����% %�'-"�(������ ��-����!�)����
� 1��-*����%4

�� )��* �"-!��* 4 − 1 ÷ 4 − 5 � ño/no ∼ 0.005 − 0.202 ��$3� $�$ )
�"-!��*2 ����%������ * ) ������* 592F26682 ��1)���� �-!$�)�� � %�'-�
"�(������ ��-����!�)���� � $��)����� ���)�'�� $ 1��-*���, ��"� ) ���
1-"/���� ��"/��� ���*����!��$�� ��-����!�)���� ')�3���� #"�$�����)
�"�1% 5F84 �'��$� ��"��.� 1��-*���� ��"� �� �����*�'��4 ;� $��) %
EI(t) &���4>26G26E2>=279+ )�'��2 !�� )� )��* �"-!��* ���"� ����)��.� 1��
�-*���� ���'��� �%�"��-'� )�"� Ne = 1 -�����)"�)����� �� ��$�����%
���������% -��)�� �"� �!��/ %�'"���� 1��-*���4 L�� ���",'����� � )
�"-!��* 4 − 3 ÷ 4 − 52 ) $���� * 1��-*���� ��!������� �� ���'��2 $�.'�
)�"�� BC� ��� �� -���"� �A��%���)��/��4 
�$�% ����1�%2 ���"� ������
!���� #���.�� -�����)"�)����� $)�1����(�������� )�"��4

�� )��* �"-!��* )�"�� �%��� *���$��� )�"� BC�4 �����)���"/��2
�� A-�$(��* ������'�"���� #"�$�����) �-!$� fb(V ) &���4D26<2>727627F+
��*�������� ��$2 �)�'���"/��)-,��� � ��*������� �.-��$� 1�*)�!��� *
#"�$�����)2 � �� A�1�)�� �"��$���� ����� � !����( � V o

N = Vo2 1�*)��
!��� � )�"���2 ���'�"3�,� ')�.��/�� �'��� .�-����4 ��*������ )�' ���
$� � ������'�"���� �"������� #"�$�����) �-!$� ñb(x) &��� E26=2>927>29G+4
I��!���� %�$��%�"/��� �"������� #"�$�����) �-!$� ñbm ) t = tmax2 tmin

� ���"� 1��-*���� ���)�'�� ) ���"�(� =4 ��%���%2 !�� A��%� ��$� ñb(x)
� ñbm %������� ) ��!���� �����'� TB5684 � ��������� ������ ñb(x) ����
"��/ ) �"-!��� � ��������"/�� TB %�%��� )��%���2 ��$ !�� 1� !����
ñbm �%�,� *���$��� �(��$�4

�(��$� A�1�)�� �$������ )�"� BC� �� ��"�3���, ��$� A-�$(��
������'�"���� fb(V ) ) ��1� � %�%��� )��%��� ��$�1 )���2 !�� ) t >
tmax A�1�)�� �$�����/ )�"� )� )��* �"-!��* -%��/0�����2 � ���"� �*"��

67



����
�� +� '���
��� nb(x) � 
����� ������� �
����
�

no
b/no = 3 · 10−3

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

tmax/Toe 378.3 327.6 255.4 44.4 19.7 11.7

ñbm/no
b 3.87 3.91 4.03 9.55 5.88 17.23

tmin/Toe 392 340 267 62 42 30

ñbm/no
b 2.39 2.75 2.85 6.39 9.59 5.10

t/Toe 500 500 500 200 200 200

ñbm/no
b 1.57 1.38 1.31 3.57 2.57 2.27

no
b ) ��!�"-��� $"������- #"	��
���� $�!��, ñbm = nbm − no

b ) �������"-��	

�����2	��	 $"������� #"	��
���� $�!�� � tmax� ��+�� E(x) ��		� �������"-)

��	 ���!	��	� � tmin� ��+�� n(x) ��		� ������"-��	 ���!	��	� � $��"	 �������+�

����'�����

� )���� )��'�� �����)���� ����������4 �%��/0���� A�1�)�� �$������
� ���������$� )�"� BC� ���",'�"��/ ����� ��� ���"�'�)���� )�"�
BC� ) �"�1%� � )�1%-�����% �"������� 56784 B "� ��$�1���2 !�� #���
#AA�$� ���",'�����2 $�.'� )�1%-����� �"������� '������!�� )�"�$�
&ñ/no > 0.1+2 ���!�% �1%������ A�1�)�� �$������ ������ ��� -)�"�!����
ñ/no4

;���%��� 2 -�����)�)0���� ���"� 1��-*���� )�"� BC� : A�1�)��
�$�����/2 ���'��� �%�"��-'� EI

�� � %�$��%�"/��� �� �.���,��� EI(t)
�%�"��-'� EI

mx ) t >> tmin2 ���)�'�� ) ���"�(� D '"� �"-!��) 7�> 5982
9�62 9�> ) t/Toe ∼ 450− 500 � '"� �"-!��) 4− 3÷ 4− 5 ) t/Toe ∼ 150− 2004

� ������ 598 � "� ���'��� -�"�)�� -����!�)���� )�"� BC� �
λ/rd = 200 ��������"/�� %�'-"�(������ ��-����!�)����? EI

�� ≤ 18.3@
(EI

��)
2/8πnoT ≤ 0.11@ EI

mx ≤ 22@ (EI
mx)2/8πnoT ≤ 0.154 �1 ���"�( D )�'�

��2 !�� )� )��* �"-!��* 4 − 1 ÷ 4 − 5 �%�"��-'� -�����)�)0���� )�"� 
BC� %��/0� .����!���2 ��$ !�� )�"�� -����!�)�4 ;�� #��%2 ) �"-!��*
7�> 5982 9�62 9�> A�1�)�� �$�����/ )�"� � �%�"��-'� ��1"�!�,��� ��1���
!���"/��2 !�� ��� ��1 -$�1 )��� �� �'���$�) � *���$��� ���(����) )
#��* �"-!��*4 � �"-!��* 4 − 3 ÷ 4 − 5 � A�1�)�� �$�����/ � �%�"��-'�
)�"� -%��/0�,��� ��� -)�"�!���� ño/no4 L�� �)�1��� � -)�"�!����%
ñmin &���"�(� 7+2 $������ ���)�'�� $ -)�"�!���, �1%������ A�1�)��
�$������ ��� ���������$� )�"� BC� 5678 � $ -�$�����, 1��-*���� ���
-)�"�!���� ño/no4 ��%���%2 !�� A�1�)�� �$�����/ � �%�"��-'� ) �"-!��
�* 9�72 9�9 ��"/0�2 !�% ) �"-!��* 9�62 9�>4 L�� �)�1��� � ��%2 !�� )�"�!���
ñmin ) #��* �"-!��* %��/0�2 !�% ) �"-!��* 9�62 9�> &���"�(� 7+2 ��$ !��
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�1%������ A�1�)�� �$������ � 1��-*���� ��$3� %��/0�2 � A�1�)�� �$��
����/ � �%�"��-'� ����)����)���� ��"/0�4

����
�� ,� !�
����
� ����� "#$ Ne = 1 	���� ��������� ����-��
%

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

t/Toe 450 − 500 450 − 500 400 − 500 120 − 200 150 − 200 150 − 200

V�/VT 24.8 25.3 − 25.824.8 − 25.327, 7 − 28.726.3 − 27.724.4 − 24.8

V I
�/VT RT�Z 25.5 25.1 28.2 27.0 24.6

EI
mx 6 6 5 14.5 10.8 5.7

V I
�mx/VT T�T 4.4 4.0 6.8 5.9 4.3

(EI
mx)2/8πnoT · 10−2 1.2 1.2 0.8 6.7 3.7 1.0

EI
�� 4 5 4 12.5 8.8 4.6

V I
� ��/VT ��� 4.0 3.6 6.3 5.3 3.9

(EI
��)

2/8πnoT · 10−2 0.5 0.8 0.5 5.0 2.5 0.7

�����	��� ) �� ���"�&� R�


�$�% ����1�%2 ���"� %�'-"�(������ ��-����!�)����2 1��-*���� �
��."������ 1��!���"/��� !���� #���.�� #"�$�����%� �"�1% -�����)�
"�)����� )�"�� BC� � ����%����%�2 -'�)"��)���,��%� -�"�)�, -�����
!�)����4 ��%���%2 !�� )�"�� BC� -�����)"�)����� � ) �"-!��* 4−3÷4−52
.'� �� A��%���)���� �'�� ����""�"/�� � %�'-"�(������ ��-����!�)��
��/, � 1��-*����%4

�)�1����(������ � *���$��� �%��� �� ��"/$� )�"�� Ne = 14 ;� $���
) % EN (t) ) �"-!��* 4− 1 ÷ 4− 5 &���4726626F2>D27<+ )�'��2 !�� ���'���
�%�"��-' .��%���$ ���"� 1��-*���� ) *�'�� �� ��$���� � �������� �
) ���'��% -��)��/4 ����� � "� ��$�1���2 !�� #�� �)�'���"/��)-�� � A���
%���)���� ) �"�1%� $)�1����(������ * ��"����� ���*����!��$�.� ')��
3���� �� A�1�)�� �"��$���� 5F84 � ���"�(� E ���)�'�� ���'��� �%�"��
�-' EN

�� � %�$��%�"/� � �� �.���,���EN (t) �%�"��-' EN
mx .��%���$

N = 2 ÷ 5 � 7 ) t >> tmin '"� �"-!��) 7�>5982 9�62 9�> ) t/Toe ∼ 450 − 500
� '"� �"-!��) 4 − 3 ÷ 4 − 5 ) t/Toe ∼ 150 − 2004

;� ������'�"���, ����� * !����( � V o
N/VT = ±2.84 �� A�1�)�� �"���

$���� ) ��1� � %�%��� )��%��� &���4=�269�2>>�27G�27E�+ )�'��2 !�� )�
)��* �"-!��*2 ��$ 3�2 $�$ ) �"-!�� 7�>598 &���467 598+2 ��"���� ���*�����
!��$�.� ')�3���� A��%��-,��� ) ��"���� �$������� V > 0 � V < 0 )
������ ��"����� 1�*)��� .��%���$ � V N

� > 0 � V N
� < 04 C����( ����

*����!��$�* ��"����� %�3�� �(����/ �� %�$��%�"/� % � %���%�"/� %
�$������% #"�$�����) �"�1% � ����� * !����(4

6<



����
�� .� /
���
� 
 ����
������� ��	�
���� ��
���
�

	���� ��������� ����-��
% 	��%

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

t/Toe 450 − 500 400 − 500 400 − 500 150 − 200 150 − 200 150 − 200

EII
�� 1.0 1.1 0.8 2.0 2.0 1.8

EII
mx 2.5 2.2 1.9 4.3 4.0 2.6

EIII
�� 1.0 0.7 0.4 1 − 0.6 1 − 0.5 0.5

EIII
mx 2.0 1.6 1.1 2 − 1.4 2.1 − 1.2 1.3

EIV
�� 0.7 0.6 0.4 1.0 1.0 0.8

EIV
mx 2.0 1.6 1.3 3.3 2.0 1.6

EV
�� 0.5 0.5 0.5 0.7 0.7 0.7

EV
mx 1.2 1.5 1.1 1.6 2.0 1.7

EV II
�� 0.4 0.4 0.7 0.5 0.5

EV II
mx 1.2 1.4 2.1 1.2 1.0

EN
��� EN

mx ) �
	���� � �������"-��� ��$"����� X)� +�
������ � ���	
��"	

�
	�	�� t, E ) ��
��
����� �� mrd
eT2

oe
�

� ���"�(� F ���)�'�� %�$��%�"/� � � %���%�"/� � �$������ #"�$�
�����) �-!$� � �"�1% 2 � ��$3� ����) '"� �"-!��) 4−1÷4−5 � 3−2 5984

����
�� 0� '���
������� 
 �
�
������� ���
���


�����
���� 	���� 
 	�����1 
 
�����

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

t/Toe 500 500 500 200 200 200

V b
max/VT TV�VR 40.67 41.35 40.42 39.70 38.38

V b
min/VT V���� 20.01 19.72 19.38 19.47 18.38

V e
max/VT V��RR 10.02 9.71 10.42 8.90 10.73

V e
min/VT )VV�V� −9.79 −10.86 −9.08 −8.68 −9.59

V i
max/VT ��R� 0.17 0.20 0.14 0.18 0.23

V i
min/VT )��VZ −0.19 −0.21 −0.12 −0.15 −0.17

V i
max/V i

T 11.0 9.47 10.93 7.38 9.75 12.63

V i
min/V i

T )V���[ −10.34 −11.51 −6.75 −8.34 −9.29

V b
max� V b

min ) �������"-��� � ������"-��� ���
���- #"	��
���� $�!��, V e
max�

V e
min ) �������"-��� � ������"-��� ���
���- #"	��
���� $"��� , V i

max� V i
min

) �������"-��� � ������"-��� ���
���- �����, VT � V i
T ) �	$"���� ���
���-

#"	��
���� $"��� � �����, VT /V i
T = 54.783�

6=



�1 ���"�( F )�'��2 !�� )� )��* �"-!��* V b
min > V e

max2 ��$ !�� #"�$�
���� �-!$� �� ����'�,� ) ���*����!��$�� ��"���� �"�1% 4

���)��)�� V e
max2 V

e
min � A�1�) %� �$������%� .��%���$ V N

� &���"�(�
7 ) ������ 598+2 %�3�� �'�"��/ ) )�'2 !�� )� )��* �"-!��* ���*����!��$��
��"���/ V > 0 A��%��-���� ) ������ ��"����� 1�*)��� .��%���$ � ���
%���%� N ≥ 4 &V 4

�/VT ∼ 8.2+2 � ��"���/ V < 0 : .��%���$ � ��%���%�

N ≥ |−(4−5)| &V (−4)
� /VT ∼ −8.2@ V (−5)

� /VT ∼ −6.6 +4 C��%���$� N = −2 )
A��%���)���� ���*����!��$�� ��"���� V < 0 �� -!���)-�� �1�1� ��"/0��
A�1�)�� �$������ V

(−2)
� /VT ∼ −16.14

C����( ���*����!��$�* ��"����� V > 0 � V < 0 ���)�'�� )
���"�(� 6G '"� �"-!��) 4 − 1 ÷ 4 − 5 � 3 − 2 5984

����
�� �2� #
��
�� 
 3


�� ���-���
����
- �������� � 	�����

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

t/Toe 500 500 500 200 200 200

�
���& \�"���- V > 0� V o
N/VT = 2.84

1	
'���

V max
N /VT 9.22 9.89 8.63 9.86 10.90 9.81

V e
max/VT 10.22 10.02 9.71 10.42 8.90 10.73

��0���

V min
N /VT 1.45 1.03 1.13 1.31 1.27 1.34

]�
��� ��"����

δVN/VT 7.77 8.86 7.50 8.55 9.63 8.47

δVe/VT 8.77 8.99 8.58 9.11 7.63 9.39

\�"���- V < 0� V o
N/VT = −2.84

1	
'���

V max
N /VT −1.09 −1.50 −1.20 −1.91 −1.21 −1.56

��0���

V min
N /VT −8.01 −7.01 −11.69 −8.04 −6.90 −9.38

V e
min/VT −11.16 −9.79 −10.86 −9.08 −8.68 −9.59

]�
��� ��"����

δVN/VT 6.92 5.51 10.49 6.13 5.69 7.82

δVe/VT 10.07 8.29 9.66 7.17 7.47 8.03

V o
N ) ��!�"-��� ���
���- $
��� ' !����&, V max

N � V min
N ) �������"-��� � ����)

��"-��� ���
���- $
��� ' !����&, V e
max� V e

min ) �������"-��� � ������"-���

���
���- #"	��
���� $"��� , δVN = (V max
N −V min

N ) ) 3�
��� ��"���� $� $
��)

� � !����&��, δVe = (V e
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�1 ���"�( 6G )�'��2 !�� )� )��* �"-!��* ���*����!��$�� ��"����
V > 0 � V < 0 �� ������$�,���4 �����)���"/��2 ��3��� .����(� ��"����
V > 0 ) ��1� * �"-!��* "�3�� ) ���'�"�* V/VT ∼ 1.0 − 1.52 � )��*���
.����(� ��"���� V < 0 : ) ���'�"�* V/VT ∼ −(1.1 − 1.9)4

�1 ���"�( 6G )�'��2 !�� )� )��* �"-!��* .����( � 0����� ���*�����
!��$�* ��"����� ��1"�!�,��� ��1��!���"/�� &�� 6�>VT +4 L�� ��$�1 )���2
!�� )� )��* �"-!��* ���(���2 ���)�'���� $ 1��-*���, �%��� �'���$�) �
*���$���2 ���%���� �� ��1� � *���$��� %�'-"�(������ ��-����!�)����
) �"-!��* 7�> 5982 9�62 9�> � 4 − 3 ÷ 4 − 54

�1 ���462F26D2><277 � ���4E 598 )�'��2 !�� )� )��* �"-!��* ����""�"/�
�� � 1��-*����% ) t > tmax ����-� ������ #���.�� #"�$�����) �-!$�4
L�� �)�1��� � -%��/0����% A�1�)�� �$������ )�"� BC� �1�1� -)�"��
!���� )�1%-����� �"������� ��� %�'-"�(������ ��-����!�)����4 ��$
��$�1��� ) ������ 56782 -%��/0���� A�1�)�� �$������ ���)�'�� $ �����
�����$� )�"� BC� : $ -%��/0���, �$������ 1�*)�!��� * #"�$�����)
� ����)����)���� $ ����- �����/ #���.�� #"�$�����) �-!$� ∆Wb4 ;��
#��% �1%������ A�1�)�� �$������ � �1%������ ∆Wb -)�"�!�)�,��� ���
-)�"�!���� )�1%-����� ñ/no4 �1 ���462F26D2><277 � ���4E 598 )�'��2 !��
) �����)�"� )��%���2 .'� )�1%-����� �"������� )�"�$� &�� t ≥ tmax '�
t ≥ tmin+ ∆Wb ������ )� )��* �"-!��*4

;��"� ����)��.� 1��-*���� #"�$���!��$�.� ��"� � �*"�� )���� )���
'�� �"������� ������ #���.�� #"�$�����) �-!$� � #���.�� #"�$�����)
�"�1% ���'�"3�,� %�'"���� �����2 *��� -�����)"�)����� $)�1����(���
������ )�"�� BC� Ne = 1 � $)�1����(������ � ��"���� ���*����!��$�.�
')�3����4 
�$�� 3� �)"���� ���",'�"��/ ) ������* 592F26684 � ������
5F8 �'�"�� ) )�'2 !�� �%�"��-'� )�"� BC� ��''��3�)����� ���%����
���������� 1� �!�� �����$� #���.�� �1�1� ���'�"3�,��.��� M��1%�0��
)����N � 1�%�'"���� #"�$�����) �-!$� � �����/ #���.�� �� $��)����,2
� �%�"��-' .��%���$ ) ���*����!��$�* ��"����* ��''��3�)�,��� 1�
�!�� �����$� #���.�� �� $��)����� � �����/ #���.�� �� 1��-*���� ���
M��1%�0�)����N � -�$������ #"�$�����) �"�1% 4 � ��1-"/���� #���.��2
���������� �-!$�%2 ���$��!��$� ��"����/, ��."������� #"�$�����%�
�"�1% 2 ��$ !�� ∆We ∼ ∆Wb4 
�$�� 3� %�*���1% )�1%�3�� � ) ����%���
��)��% * �"-!��*2 ��$ $�$ )�1%-����� �"������� � ) t >> tmin ����,��
�� '������!�� ��"/0�%� &���4E26=2>927>29G+2 ��$ !�� $��)����� 1�)�'�%�
���'�"3��� �.���/ ��"/4

L���.�� ∆Wb2 WE 2 ∆We2 ∆Wi ) �"-!��* 7�> 5982 9�62 9�>2 ) t/Toe = 500
� 4 − 3 ÷ 4 − 52 ) t/Toe = 200 ���)�'�� ) ���"�(� 664
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 ∆Wb1 WE1 ∆We1 ∆Wi�

W o
b /W o

e = 3.111 W o
i /W o

e = 3.34 · 10−2�

/"�!�� 3 − 2 4 − 1 4 − 2 4 − 3 4 − 4 4 − 5

ño/no − 0.005 0.01 0.05 0.10 0.20

t/Toe 500 500 500 200 200 200

∆Wb/W o
e 0.75 0.69 0.77 0.56 0.67 1.01

WE/W o
e 7.2 6.7 6.4 55.8 30.6 11.0

∆We/W o
e 0.74 0.69 0.76 0.50 0.64 1.00

∆Wi/W o
e · 10−3 7.0 8.4 9.2 4.7 9.5 32.6

∆Wb/W o
b 0.24 0.22 0.25 0.18 0.21 0.33

WE/W o
b · 10−3 2.3 2.2 2.1 17.9 9.8 3.5

∆We/W o
b 0.24 0.22 0.24 0.16 0.20 0.32

∆Wi/W o
b · 10−3 2.26 2.70 2.95 1.52 3.06 10.49

∆Wi/W o
i 0.21 0.25 0.27 0.14 0.28 0.98

�����	��� ) �� ���"�&� V � W�

�1 ���"�( 66 )�'��2 !�� ∆We )� )��* �"-!��* ��1��!���"/�� ��"��
!����� �� ∆Wb4 � �"-!��* 7�> 5982 9�62 9�> ∆Wb2 ∆We �"�1$�2 � ) �"-!��*
4−3÷4−5 ����-� ��� -)�"�!���� ño/no4 ����∆Wb �)�1�� � -%��/0����%
A�1�)�� �$������ )�"� BC� Ne = 1 ��� �� ���������$� ) ���'����'�
��� �"�1%�4 �����)���"/��2 �1 ���"�( D )�'��2 !�� A�1�)�� �$�����/
V I
� ���$��!��$� �'���$�)� ) �"-!��* 7�> 5982 9�62 9�> � -%��/0����� ���
-)�"�!���� ño/no ) �"-!��* 4 − 3 ÷ 4 − 52 !�� � ���)�'�� $ -)�"�!���,
∆Wb4

;� A-�$(��% ������'�"���� #"�$�����) �"�1% &���4D26<2>727627F �
���46926< 598+ )�'��2 !�� )� )��* �"-!��* A-�$(�� ������'�"���� fe(V )
%�"� ��"�!�,��� �� ��!�"/��� fo(V ) '� V/VT ∼ ±2.54 L�� ��$�1 )���2
!�� ��%�����-�� ����)��� !���� #"�$�����) �"�1% ���$��!��$� �� %��
������4 L���.�� )� )��* �"-!��* ��."������� M$����$�%�N &V e

max < V I
�+

*)����%� -�$����� * #"�$�����)4 �����)���"/��2 %�$��%�"/� � �$����
��� #"�$�����) �"�1% V e

max/VT ∼ 9 − 11 &���"�(� F+ )� )��* �"-!��*
�-����)���� %��/0� A�1�)�� �$������ ����)��� )�"� Ne = 1 V I

�/VT ∼
25 − 28 &���"�(� D+4
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